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(i 0.6 mg/L < 0.06 < 0.06 < 0.06 < 0.06 < 0.06 4
Crzour7tE h=rY| 0.01 mg/L 0.003 0.001 0. 002 < 0.001 0.003 0.001 0. 002 4
ks as—n 0.02 mg/L 0. 005 0. 004 0.003 < 0.002 0. 005 < 0. 002 0.003 4
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(i 0.6 mg/L < 0.06 < 0.06 < 0.06 < 0.06 < 0.06 4
Crour7t h=rY| 0.01 meg/L 0. 004 0.001 0. 002 < 0.001 0. 004 0.001 0. 002 4
ks as—n 0.02 mg/L 0. 005 0. 004 0. 002 < 0.002 0. 005 < 0. 002 0.003 4
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(i 0.6 mg/L < 0.06 < 0.06 < 0.06 < 0.06 < 0.06 4
Crzour7tE h=rY| 0.01 meg/L 0.003 0.001 0. 002 < 0.001 0.003 0.001 0. 002 4
ks as—n 0.02 mg/L 0. 004 0.003 0. 002 < 0. 002 0. 004 < 0.002 0. 002 4
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i 0.6 mg/L < 0.06 < 0.06 < 0.06 < 0.06 < 0.06 4
Crour7tE h=rY| 0.01 mg/L 0.003 0.001 0. 002 < 0.001 0.003 0.001 0. 002 4
ks as—n 0.02 mg/L 0. 004 0. 003 < 0.002 < 0. 002 0. 004 < 0.002 0. 002 4
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il 0.6 mg/L < 0.06 < 0.06 < 0.06 < 0.06 < 0.06 4
Crour7t h=rY| 0.01 mg/L 0. 002 0. 002 0. 002 < 0,001 0. 002 0.001 0. 002 4
ks as—n 0.02 mg/L 0. 004 0. 006 0. 003 0. 002 0. 006 0. 002 0. 004 4
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il 0.6 mg/L < 0.06 < 0.06 < 0.06 < 0.06 < 0.06 4
Cruour7t h=rY| 0.01 mg/L 0.003 0. 002 0. 002 < 0.001 0.003 0.001 0. 002 4
ks as—n 0.02 mg/L 0. 004 0. 006 0. 002 < 0. 002 0. 006 < 0. 002 0.003 4
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Crour7t h=rY| 0.01 meg/L 0. 002 0. 001 0. 002 < 0,001 0. 002 0.001 0.001 4
akrsas—n 0.02 mg/L 0.003 0. 003 0. 002 < 0. 002 0.003 < 0. 002 0. 002 4




